EARAROBREBRT —5 XN—ZXBISH—F 202511878 (B) 17E8&R1B

NS IS VE YSR—MK (s | EEm - | 9 o0 B
[AXE%€]) 1%&:360,00 M ~ 2%&:115,000H  3#%&:57,00MH  4%&:43,000H  53&:36,000H
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
. 3 | REXE 1:37.6 3-3-3-1 [39.3| - 2 ng | &R &R
118l11| 7=V RL=3 3 4% o G | @ T UK
RIFVIARNAN B:F 4 VT ILN— b S Wi
3 | PERED 1:38.4 5-5-4-4 [39.9| — 3 416 | EBREF (&R
2|8[10| 7LFUT w3 e @ (o | B0 IITF 95Ty KR
RiTSvIIALR B:UNLERT Y b EERIY R
“ N =TE= :38. -6-6- 6| - BEET (&R
3|55 Y hYAF—KRU— 3 54.0 “ 1(93?:? b |88 ! f;) LLE#0K R
RN—EVIv— B:PIAVFIU— [FElEekes]
3~ ft 3 | BUIER 1:38.6 2-2-1-2 | 40.4| - 1 469 | HIHE &R
4(7|8|TA¥VIL7 54.0 ) (o) | FHEE
RiIfYVENY BI-YYFIFSR HARAIS
%3 | tE 1:38.7 7767 39.9| - | 6 | 438 |#HAEE &R
LA 5.0° (72 Oy | mmyFa
RFWTT—II B:EUTRT =gtz
e__ Wy it 3 | BETR 1:39.0 4445 | 40.5| - 7 | 43 |HBAED &R
IN—=T LY I X ¥¢53.0 (112 w) |EEEE
RiTT/—*/ B:UFHVELOL MR B—
e = . _0-0-. — i — )
Fr—LiRA4Y LI E'ZF%%" 1.(319).2 9-9-9-8 | 39.1 8 (4_1;) ﬂgﬁ% &R
RVILN=RF—k B:Fv—IUTAA K FREKS
S RZ=S 4t 3 | FELAE 1:39.7 1-1-1-3 | 41.7| - 9 42 | B &R
EEr g 54.0 @ 172) o | SEBA
RiFIFUISvI BHIYRUFZ—F PN
JRISH6TE : -10-10- - )|z (&R)
917/ 9|FURTIU—FI i3 | B9 Léﬁj 10-10-10-10| 39.7 10 g9) il
R:DVFPYRFVU— B:RARXTI=—Fzx gl Al
5 e - i 3 | BURT 1:41.6  |11-11-11-11/40.4 | — | 11 | 455 | BE=f &R
100111 | RE=RT =2 54.0 ) 1) |HEE
R:Y N/ TSIV B:HhHhIADST TSVFT7—A
o .o BHaA : -8-8- - HiE—th (&R
1Bl 3| Yzu—E—-rOoy 3 T | e e ° ?424) s
RFIHYISWT B:LFA T T R—Y HBT7—L
@ 1—F—&RIEL
13—7— 7,8,11,4,10,5,6,3,2,9,1
20—F— 7.8,11,4,10,5,6,3,2,9,1
30—7— (7.,8),11, (4,10), (5,6) ,3,2,9,1
41—7— 11,8,7,10,4,5,6,2,3,9,1
o ILRE
BB 1 280 | [ DA R 10-11 230M e B 8-8 450 3EE | 5-10-1 2,000
B B 1 120M 5=11 610M (=1 8-8 490M 3EH 11-10-5 7,600
10 160M 5-10 840M 5 & 10-11 630
5 2504 == 11-10 9604

ABIC OV TRUTEREERRODDZE. THRIIZEL.



